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J\fEHhiE 5
J\Km
JKJ I ET
EdihiEgEt 3 15 12 4 24 20
KT 1 5 4 2 12 10
=) 1 5 4 1 6 5
EZEKHT 1 5 4 1 6 5
TR EE Hhis B 10 31 28 9 20 18
AEh 0 0 0 0 0 0
FRET 2 19 18 1 7 7
% B KRHT 6 5 3 6 5 3
i BT
K EFT 0 0 0 0 0 0
HER 1 5 5 0 3 3
AARF 0 0 0 - - -
LT A 0 0 0 0 0 0
BREEFT - - -
HIFVYHT 1 2 2 2 5 5
K Hhis 5t 2 20 12 0 6 6
LXES 7 7 6 6
XEmH
ZJLET 2 13 5
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() F=Fh&E

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 319 13,400 11,300 318 12,900 10,900
ERE (R 180 6,371 5,389 185 6,579 5,668
REARHhigi & 51 2,142 1,806 62 2511 2,122
REARTH 51 2,142 1,806 62 2,511 2,122
Fif i E 3 85 47 2 66 42
F1H 1 20 5
Fih
S EHT 2 65 42 2 66 42
E & i st 3 68 21 3 68 21
REW - - - - — —
EX i - - - = — -
EEHT - - -
T BE ET 2 50 5 2 50 5
M ET - - - - - —
FN7KET 1 18 16 1 18 16
EEA s et 11 228 125 9 185 130
(LEETh 11 228 125 9 185 130
3 thh i et 5 48 47 4 21 20
Zithth 4 44 44 3 17 17
anm
KEET
% (5 HT 1 4 3 1 4 3
] i dth 4k 51 1 8 7 1 8 7
fAl &% - - - - - -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF - — - - - -
= #xET - - - - - -
FEEA 1 8 7 1 8 7
B BT Ex At - - — - - —
i 5t 5 123 102 5 123 102
{EN i BT
=Z B0 - - - - - —
5 3 AT 5 123 102 5 123 102
R {A ET - - - - — —
(LI ZRET
J\ i ET 5 140 120 5 140 120
J\Kh 5 140 120 5 140 120
JKJ I ET
EdihiEgEt 73 2,888 2,533 73 2,796 2,480
KT 42 1,760 1,550 45 1,680 1,480
EJbET 20 707 587 17 680 594
2 2= KHT 11 421 396 11 436 406
TR EE Hhis B 2 35 32 3 58 55
AEh
FRET 0 1 1 1 28 28
% B KRHT 2 30 27 2 30 27
i BT
K EFT 0 0 0 0 0 0
HER - - - - — -
AARF 0 0 0 - - -
LT HE 0 0 0 0 0 0
BREEFT - - -
HIFVYHT 0 4 4 - - -
K Hhis 5t 21 605 549 18 603 569
LXES 14 523 489 14 546 524
XEmH 2 12 10 1 22 19
ZJLET 5 70 50 3 35 26
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(9) MALE

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 897 19,300 824 17,300
BEERE(RED 547 12,585 11,282 589 13,458 11,936
REARHhigi & 8 166 149 8 163 147
REARTH 8 166 149 8 163 147
Fif i E 3 53 40 2 50 40
F1H 1 5 1
Fih
S EHT 2 48 39 2 50 40
E4L& it 10 240 120 9 215 95
REW - — - — — -
EX i - - - - - -
EEHT - - -
T BE ET 5 120 20 5 120 20
£ IMET - - - 0 0 0
FN7KET 5 120 100 4 95 75
EEA s et 11 255 239 9 211 195
(LEETh 11 255 239 9 211 195
3 thh i et 245 5,759 5,397 276 6,041 5,553
Zithth 7 130 110 18 320 220
=¥odit] 5 150 143 5 65 59
KEET 201 4714 4514 221 4,891 4,644
% (5 HT 32 765 630 32 765 630
] i dth 4k 51 130 3,448 3,037 143 3,853 3,360
fAl &% - - - - — -
/N E BT - - - - — —
NESL 5 110 40 5 102 37
ELLF — - - - — -
= #xET - - - - - -
FaRf 125 3,338 2,997 138 3,751 3,323
B BT Ex At - — - - — —
28k hig 5 125 2,335 2,003 125 2,593 2,224
{ENfin BT 0 16 16 0 16 16
=Z B0 - - - - — —
5 3 AT 125 2,319 1,987 125 2577 2,208
R {A ET - - - - - -
IR
J\ i ET 2 26 23 2 26 23
J\Kh 2 26 23 2 26 23
JKJ I ET
EdihiEgEt 0 36 30 2 52 46
KT 0 12 10 1 20 18
=) 0 12 10 1 20 18
EZEKHT 0 12 10 0 12 10
TR EE Hhis B 10 218 215 13 247 246
AEh 1 11 11 0 3 3
FRET 0 3 1 0 1 1
% B KRHT 1 7 6 1 7 6
i BT
K EFT 0 0 0 0 0 0
HER - - - - — -
£7|(J':' — — — _ _ _
LT HE 2 66 66 7 140 140
BREEFT - - -
HIFVYHT 7 131 131 5 96 96
K Hhis 5t 3 49 29 0 7 7
LXES 9 9 7 7
XEmH
Z 4L T 3 40 20
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(10)-3 FRZ[ELELY

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 253 10,000 7.940 242 9,490 7,690
BEERE(RED 93 4,142 3,297 87 4172 3,440
REARHhigi & 11 440 349 11 414 335
REARTH 11 440 349 11 414 335
Fif i E 4 82 53 3 76 54
F1H 1 10 1
Fih
S EHT 3 72 52 3 76 54
E & i st 3 150 50 3 150 50
REW - - - - — —
EX i - - - = — —
EEHT - - -
T BE ET 3 150 50 3 150 50
M ET - - - - - —
FOoK BT - - - - — —
EEA s et 25 815 723 24 1,023 980
LEE T 25 815 723 24 1,023 980
3 thh i et 39 2,280 1,830 39 2,280 1,830
Zithth
anm
KEET
% (5 HT 39 2,280 1,830 39 2,280 1,830
] i dth 4k 51 1 21 20 1 19 17
Bl &% - - - - - -
1 /NE BT - - - - - -
/|\EHT - - - - - -
ELLF — — - - — -
= #xET - - - - — -
FEEA 1 21 20 1 19 17
B BT Ex At - - - - - —
i 5t 1 50 33 1 50 33
{EN i BT .
=Z B0 - - - - - —
5 3 AT 1 50 33 1 50 33
R {A ET - - - - — —
IR
J\ i ET 3 135 108 2 78 70
J\Kh 3 135 108 2 78 70
JKJ I ET
EdihiEgEt 0 45 39 0 45 39
KT 0 15 13 0 15 13
=) 0 15 13 0 15 13
EZEKHT 0 15 13 0 15 13
TR EE Hhis B 4 101 77 3 30 25
AEh
FRET 2 90 72 2 23 22
% B KRHT 1 7 3 1 7 3
i BT
K EFT 0 0 0 0 0 0
HER - - - - - -
A ARF 0 0 0 0 0 0
LT A 0 0 0 0 0 0
BREEFT - - -
HIFVYHT 1 4 2 0 0 0
K Hhis 5t 2 23 15 0 7 7
LXES 8 7 7 7
XEmH
ZJLET 2 15 8
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a1-1 FEexY

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 312 11,800 10,900 310 11,100 10,300
BEERE(RED 227 7,794 6,986 182 6,194 5,510
REARHhigi & 63 1,750 1,360 59 1,560 1,220
REARTH 63 1,750 1,360 59 1,560 1,220
Fif i E 1 22 18 2 40 36
F1H
Fih
ES-:L) 1 22 18 2 40 36
E4L& it 17 829 828 20 760 760
REW - - - - — —
EX il 17 825 825 20 760 760
EEHMET - - -
T BE ET
M ET - - - - — —
FN7KET 0 4 3 - - -
EEA s et 4 142 131 4 113 105
(LEETh 4 142 131 4 113 105
3 thh i et 3 17 14 3 17 14
Zithth
anm
KEET
% (5 HT 3 17 14 3 17 14
] i dth 4k 51 37 602 588 13 582 490
Bl &% 35 581 569 11 560 471
/N E BT - - - - — —
UNEIL - - - - - -
ELLF — - - - — -
= #xET - - - - — -
FEEA 2 21 19 2 22 19
B BT Ex At - — - - — —
28k hig 5 37 1,457 1,362 35 1,414 1,330
{EN i BT 5 180 150 5 175 150
=Z B0 - - - - — —
5 3 AT 10 420 400 10 420 400
R {A ET - - - - - -
IR 22 857 812 20 819 780
J\ i ET 63 2917 2,647 43 1,614 1,471
J\Km 60 2,700 2,430 40 1,460 1,317
K J 1| BT 3 217 217 3 154 154
EdihiEgEt 0 15 9 0 12 6
KT 0 5 3 0 4 2
=) 0 5 3 0 4 2
EZEKHT 0 5 3 0 4 2
TR EE Hhis B 1 17 13 1 17 13
AEh
FRET 0 0 0 - - —
% B KRHT 1 16 12 1 16 12
i BT
K EFT 0 0 0 0 0 0
HER - - - - — —
£7|(J':' — — — _ _ _
LT A
BREEAT - - -
HIFVYHT 0 1 1 0 1 1
K Hhis 5t 1 26 16 2 65 65
LXES 6 6 6 6
XEmH
S ALHT 1 20 10 2 59 59

21



(11)-2 ERFrRY

7T 4F 7 (20194 /%)

SN2 £ (20204 )

e+ EE

INEE

YRS

INEE

11,300

8,152

E & thigct

REW

Fah

11—

11 |©o]|=|

FRHET

e e T

o

o

R IMET

FN7KET

BEAHhizi it

LI EE T

Bl |

T iat

FHmh

| joojoo] |

=il

KiEHET

% [5HT

181

55

181

el gk th tek 51

219

5,260

4817

217

5,012

Be] &%

152

153

/)BT

3,590

3,300

3,430

NESL,

EELLAE

= FxHT

65

1,650

1,500

1,560

78 R 1

N

20

17

22

e Bl &R A1

JO)
FININT T ]

E Zeyk st

157

3,310

3,090

154

3,310

fE A BT

5 SHT

Jo S0 T

FH A T

LI T

157

3310

3.090

154

3310

J\ K higi st

AN A7)

JKJII BT

Eitihigist

KT

E4LHT

AT

BREEHhigi 5t

ol|lo|o|o|o]: | |

=IN|NvINe] | E

of—|=]=feol: |+ [

HE = (=1 (=1 (=] (=] HE H

HINvINvVINVIS] | |E

ASmh

SRET

% BAH]

% Bl ]

K EFY

FEB AT

B AR

ST A

EREFT

HSEYHT

KE Mg ET

LEXEH

=l o) I N E

Njed| 11

XETH

Pol==l

Pol= =]

ZbEy

22



(11)-3 ZFpAY

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE

ha t t ha t t

WERE (REH) 585 20,800 18,600 567 18,300 16,500

BEERE(RED 464 17,620 16,039 417 13,745 12,176

REARHhigi & 7 252 225 7 219 197

REARTH 7 252 225 7 219 197
FiR s s
F1H
Fih

EX4:) - — - - - -

E4L& it 91 4,900 4800 82 2,963 2,863

REM 10 700 700 15 900 900

EX i 78 4,050 4,050 64 1,913 1913

FERHET - - -

T BE ET 3 150 50 3 150 50

M ET - - - - — —

FN7KET 0 0 0 - - -

EEA s et 13 411 352 12 430 382

(LEETh 13 411 352 12 430 382

3 thh i et 1 45 34 3 65 55

Zithth 0 5 4 1 15 12

&iEm 1 40 30 2 50 43
KEET

% (5 HT

] i dth 4k 51 47 647 640 15 620 601

fAl &% 47 647 640 15 620 601

/N E BT - - - - — —

NESL - - - - — —

ELLF — - - - — -

= #xET - - - - — -

PR AT - - - - - -

B BT Ex At - — - - — —

i 5t 27 1,061 971 26 930 860

{EN i BT 120 101 3 100 80

=Z B0 - - - - — —

5 3 AT - - - - — —

R {A ET - - - - - -

LLI R BT 24 941 870 23 830 780

J\ i ET 266 10,000 8,790 260 8,270 6,990

J\Km 200 7,660 6,660 195 6,120 5,160

K J 1| BT 66 2,340 2,130 65 2,150 1,830

EdihiEgEt 3 60 45 3 60 45

KT 1 20 15 1 20 15

=) 1 20 15 1 20 15

EZEKHT 1 20 15 1 20 15

TR EE Hhis B 4 122 88 5 57 52

AS

FRET 3 98 68 3 38 37

% B KRHT 1 17 13 1 17 13

ZHIE]

K EFT 0 0 0 0 0 0

HEH - - - - — -

£7|(J':' — — — _ _ _

LT HE 0 0 0 0 0 0

BREEFT - - -

HIFVYHT 1 7 7 1 2 2

K Hhis 5t 4 122 94 4 131 131

LXES 2 4 5 5

XEHh

S ALHT 4 120 90 4 126 126
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(13) [E>NAES

SHITTERE (20195 ) S FI2F B (20205 )
X5 et ETE IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
HrERE (REH) 506 5,670 5,060 466 5,030 4,480
BEERE(RED 262 2,516 2,325 261 2,456 2,241
REARHhigi & 40 440 393 56 605 539
REARTH 40 440 393 56 605 539
Fif i E 2 14 9 1 15 13
F1H 1 4 0 0 0 0
Fih
S EHT 1 10 9 1 15 13
E & i st 2 40 10 2 40 10
REW - - - - — —
EXA - - - = — -
FERHET - - -
T BE ET 2 40 10 2 40 10
M ET - - - - - —
FOoK BT - - - - — —
EEA s et 6 62 50 15 163 141
LEE T 6 62 50 15 163 141
3 thh i et 19 225 200 21 265 236
Zithth
&iEm 7 100 90 9 140 126
KEET
% (5 HT 12 125 110 12 125 110
] i dth 4k 51 125 915 870 120 819 777
o] &% T 3 24 22 3 23 21
/N E BT 39 289 274 39 258 244
/|\EHT 64 461 438 54 365 346
ELLF 18 135 131 24 173 166
= Fx AT 1 6 5 X X X
FEEA 0 0 0 0 0 0
B BT Ex At - — — - - —
i 5t 16 203 185 18 213 196
{EN i BT
=Z B0 0 4 4 1 20 20
a3k BT 1 7 3 2 7 3
R {A ET - - - - - —
LI 0 BT 15 192 178 15 186 173
J\{CHhis =t
J\ftth
JKJ I ET
EdihiEgEt 3 15 9 3 10 4
KT 1 5 3 1 4 2
=) 1 5 3 1 3 1
EZEKHT 1 5 3 1 3 1
TR EE Hhis B 48 590 588 25 323 322
AS
FRET 0 3 2 0 0 0
% B KRHT 2 2 2 2 2 2
i BT 6 42 41 2 41 40
K EFT 0 0 0 0
HEH - - - - — -
FEARF — _ — — — —
LT HE 0 0 0 0 0 0
BREEFT - - -
HIFVYHT 40 543 543 21 280 280
K Hhis 5t 1 12 11 0 3 3
LXES 3 4 3 3
XEHh
= JL BT 1 9 7
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(15) PRINTGHRA

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 99 2,110 1,970 99 2,200 2,060
BEERE(RED 98 2,112 2,007 98 2,093 1,941
REARHhigi & 5 105 98 5 111 104
REARTH 5 105 98 5 111 104
Fif i E 10 142 129 9 151 136
F1H 1 4 1 0 0 0
Fih 1 18 16 1 25 23
S EHT 8 120 112 8 126 113
E & i st 5 53 51 4 37 35
REW - - - - — —
EX il 4 48 46 3 35 33
EEHT 0 2 2 0 2 2
T BE ET
£ IMET - - - 0 0 0
F0/K AT 1 3 3 1 0 0
EEA s et 23 423 403 20 354 338
LEE T 23 423 403 20 354 338
3 thh i et 8 145 135 9 142 124
Zithth 6 95 92 6 90 79
&iEm 2 35 32 2 37 35
KEET
% (5 HT 1 15 11 1 15 10
] i dth 4k 51 27 777 746 31 809 752
Bl &% 17 517 497 17 519 472
1 /NE BT 0 2 2 0 2 2
NESL 1 26 25 1 23 22
ELLF 1 33 33 1 33 33
= #xET - - - 4 11 11
FEEA 1 4 4 1 6 6
A Bl ER A 7 195 185 7 215 206
i 5t 0 5 4 0 5 4
{EN i BT - - - - - —
=Z B0 0 0 0 0 0 0
a3k BT 0 5 4 0 5 4
R {A ET - - - - — —
IR
J\ i ET 18 443 427 19 472 440
J\Kh 11 323 307 12 352 320
K J 1| BT 7 120 120 7 120 120
EdihiEgEt 0 0 0 0 0 0
Kk 0 0 0 - - -
=) 0 0 0 - - -
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% B KRHT 0 0 0 0 0 0
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BREE 1 - - - - - -
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S ALHT 1 16 12 1 10 6
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(17) Zayal)—

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 447 4,960 4,380 492 4,970 4,390
BEERE(RED 830 7,684 6,672 866 9,326 8,535
REARHhigi & 14 154 136 15 156 137
REARTH 14 154 136 15 156 137
Fif i E 3 25 18 0 0 0
F1H 2 20 14
Figth . . .
S EHT 1 5 4 - - —
F £ HhigET 61 694 688 61 564 558
REM - - - - - -
EX il 60 684 684 60 555 555
FERHET - - - . .. ..
T BE ET 1 9 3 1 9 3
£ IMET - - - 0 0 0
FN7KET 0 1 1 0 0 0
EEA s et 9 150 129 8 96 76
(LEETh 9 150 129 8 96 76
3 thh i et 1 13 10 1 13 10
Zithth
anm
KEET . . . . B .
% (5 HT 1 13 10 1 13 10
] i dth 4k 51 - - - - - -
fAl &% - - - - — -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF - — - - — —
= #xET - - - - — -
PR AT - - - - — —
B BT Ex At - - — — — -
i 5t 1 15 13 1 15 13
{EN i BT ..
=Z B0 - - - - - -
5 3 AT 1 15 13 1 15 13
R {A ET - - - - - -
IR
J\ i ET 726 6,534 5,589 769 8,411 7,673
J\Km 700 6,300 5,355 740 8,133 7,395
K J 1| BT 26 234 234 29 278 278
EdihiEgEt 3 15 12 3 15 12
KT 1 5 4 1 5 4
=) 1 5 4 1 5 4
EZEKHT 1 5 4 1 5 4
TR EE Hhis B 10 58 57 8 48 48
AEh 0 1 1 0 1 1
FRET 3 19 19 2 16 15
% B KRHT 1 1 1 1 1 1
i BT 1 4 3 0 1
K EFT 0 0 0 0 0 0
HER - - - - - -
FEARF — _ — — — —
T AT
BREH 0 2 2 - - -
HIFVYHT 5 32 32 5 30 30
K Hhis 5t 2 25 20 0 8 8
LXES . 5 6 . 7 7
XEmH 0 2 2 0 1 1
S ALHT 2 18 12
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(19)-3 MEBHRF

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 162 3,140 2,390 167 3,190 2,430
ERE (R 90 1,018 845 94 1,062 887
REARHhigi & 15 285 217 15 295 225
REARTH 15 285 217 15 295 225
Fif i E 2 28 20 2 26 18
F1H - - - - - -
Fih
S EHT 2 28 20 2 26 18
E & i st 1 21 11 1 20 10
REW - - - — — -
EX i - - - - - -
FERHET - - -
T BE ET 1 20 10 1 20 10
M ET - - - - — —
FOoK BT 0 1 1 - - -
EEA s et 5 92 75 6 102 86
LEE T 5 92 75 102 86
3 thh i et 16 132 117 19 158 140
Zithth 13 60 53 13 45 36
&iEm 1 30 25 4 70 64
KEET 2 42 39 2 43 40
% (5 HT
] i dth 4k 51 0 27 25 1 31 27
fAl &% - - - - — -
/N E BT - - - - — —
NESL - - - - — —
ELLF — - - - — -
= FRET 0 25 23 1 29 25
FEEA 0 2 2 0 2 2
B BT Ex At - — - - — —
i 5t 30 218 201 30 218 201
{EN i BT - - - - — -
=Z B0 - - - - — —
5 3 AT 5 122 110 5 122 110
R {A ET - - - - - -
IR 25 96 91 25 96 91
J\ i ET 14 156 130 12 137 115
AN Ml 2 44 40 2 44 40
K J 1| BT 12 112 90 10 93 75
EdihiEgEt 3 15 12 3 15 12
KT 1 5 4 1 5 4
=) 1 5 4 1 5 4
EZEKHT 1 5 4 1 5 4
TR EE Hhis B 3 36 31 5 59 52
AEh 1 10 10 1 8 8
FRET 0 2 2 0 0 0
% B KRHT 1 12 7 1 18 11
ZHIE]
K EFT 0 0 0 0 0 0
HEH - - - - — -
£7|(J':' — — — _ _ _
LT HE 0 0 0 0 0 0
EE}?FE'*TT' 0 — _ _
HIFVYHT 1 11 11 3 33 33
K Hhis 5t 1 9 7 0 1 1
LXES 1 1 1 1
XEHh
ZJLET 1 8 6
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REH-E8

21)-1 Z2FZEPIY

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= Hir= Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 75 6.200 5.880 75 6.210 5,890
BEERE(RED 69 5,780 5,408 68 5876 5,542
REARHhigi & 31 3,130 3,000 31 3,130 3,010
REARTH 31 3,130 3,000 31 3,130 3,010
FiR s s 14 1,232 1,115 14 1,196 1,084
F+h 10 910 820 10 895 810
Fik T 4 322 295 4 301 274
ES-:L) - - — - — -
F £ HhigET
REW - - - - - —
EX i - - - = — -
EEHT
T BE ET
£ IMET - - - 0 0 0
FOoK BT - - - - — —
EEA s et 5 216 200 5 210 196
LLEE T 5 216 200 5 210 196
Zithth
anm
KEET
% (5 HT
] i dth 4k 51 3 140 91 3 117 76
fAl &% - - - - - -
1 /NE BT 2 71 46 2 54 35
NESL 1 69 45 1 63 41
ELLF - — - - - —
= #xET - - - - - -
PR AT - - — - — -
B BT Ex At - - m — — —
i Et 5 372 340 5 372 340
{EN i BT — - - - - —
=Z B0 - - - - - —
5 3 AT 5 372 340 5 372 340
R {A ET - - - - — —
(LI ZRET
J\fEHhiE 5
J\Km
JKJ I ET
EdihiEgEt 2 10 8 2 10 4
KT 1 5 4 1 5 2
=) 1 5 4 1 5 2
R KHET 0 0 0 0 0 0
TR EE Hhis B 1 22 20 2 33 31
AEh
FRET 0 1 1 - - —
% B KRHT 1 21 19 1 21 19
i BT
K EFT 0 0 0 0 0 0
HER - - - - - -
FARF
LT HE 0 0 0 0 0 0
BREEFT - - -
HIFVYHT - — — 1 12 12
K Hhis 5t 8 658 634 6 808 801
LXES 4 234 217 2 188 189
XEmH 4 409 407 4 620 612
S ALHT 0 15 10
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(21)-2 EMZEWIY

SHTTERE (2019F ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
#rERE (85T 207 7,510 6.660 204 7.240 6.450
BEERE(RED 177 6,367 5,784 182 6,243 5,659
REARhigi Bt 41 1,220 1,170 41 1,150 1,110
REARTH 41 1,220 1,170 41 1,150 1,110
Fif i E 3 165 144 7 295 258
F1H 1 60 54 3 135 120
Figmh 1 36 31 3 93 83
ES-:L) 1 69 59 1 67 55
E & i st 3 120 105 3 115 100
mEM - - - - — —
EX i - - - = — -
EEHMET
T BE ET 2 80 70 2 80 70
M ET - - - - - —
FN7KET 1 40 35 1 35 30
EEA s et 6 115 96 8 175 160
LI Ee 6 115 96 8 175 160
3 thh i et 17 291 247 17 300 257
Zithth 3 49 38 3 47 36
&EH 13 240 207 13 251 219
KEET
% (5 HT 1 2 2 1 2 2
] i dth 4k 51 19 875 752 19 837 724
fAl &% 3 172 142 3 168 138
/N E BT 10 423 370 10 408 350
/|\EHT 6 280 240 6 261 236
ELLF - — - - - -
= &M - - - - - -
AR A - - - - — —
B BT Ex At - - — - - —
i 5t 20 657 562 16 647 555
{ENfin BT 0 4 4 0 4 4
=Z B0 - - - - - —
5 3 AT 4 95 68 3 84 59
B A /T - — - - — -
LLI R BT 16 558 490 13 559 492
J\ i ET 1 8 7 1 3 3
J\Kh 1 8 7 1 3 3
JKJ I ET
EdihiEgEt 3 22 16 5 35 24
KT 1 8 6 2 15 10
=) 1 8 6 2 15 10
EZEKHT 1 6 4 1 5 4
TR EE Hhis B 49 2,163 2,072 49 2,011 1,895
AS 4 127 115 2 39 30
i AT 4 154 127 4 137 120
% R AKHT 15 782 757 16 746 700
ZHIE] 5 158 153 5 154 149
7K _E &4 2 60 52 2 64 56
HER 2 58 49 2 65 58
E N 0 0 0 0 0 0
LT+ 1 25 23 1 24 22|
BREH - - — 1 24 24
HIFVYHT 16 799 796 16 758 736
K Hhis 5t 15 731 613 16 675 573
EXEM 7 250 230 8 255 235
XEmH 8 471 378 8 420 338
S ALHT 0 10 5
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(22) MIxBe

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
#HERE (RE) 141 2,170 1,740 147 1,880 1,510
BERE (BED) 88 1,081 895 84 989 837
REARHhigi & 10 150 120 10 133 107
REARTH 10 150 120 10 133 107
Fif i E 12 112 105 8 80 72
F1H 1 16 15
Fih 5 42 40 1 3 2
S EHT 7 70 65 6 61 55
E4L& it 12 74 69 9 88 78
REW 2 30 30 p) 30 30
EX i - - - - — —
EEHT 3 4 4 0 2 2
T BE ET 3 25 24 3 25 20
£ IMET 2 1 1 1 1 1
FN7KET 2 14 10 3 30 25
B A Hhisk 8 182 148 7 145 133
\LEETH 8 182 148 7 145 133
3 thh i et 2 8 4 7 25 21
Zithth 6 22 19
=¥odit] 2 8 4 1 3 2
KEET
% (5 HT
] i dth 4k 51 9 6 6 10 12 10
Bl &% - — - - — -
1 /NE BT - - - - — -
NESL - - - — — —
ELLF — — - - - -
= #xET - - - - — -
FEEA 9 6 6 10 12 10
B BT Ex At - — - - - -
i 5t 14 369 283 14 368 283
{EN i BT 1 26 23 1 25 23
=Z B0 - - - - - -
5 3 AT 13 343 260 13 343 260
B & HT - - - - — -
IR
J\ i ET 1 8 7 1 8 7
J\Kh 1 8 7 1 8 7
JKJ I ET
EdihiEgEt 0 9 7 0 9 7
KT 0 3 2 0 5 4
=) 0 6 5 0 3 2
EZEKHT 0 0 0 0 1 1
TR EE Hhis B 9 55 54 9 47 46
AEh 1 4 4 0 1 1
FRET 0 4 4 1 4 4
% B KRHT 3 7 6 3 7 6
i BT
K EFT 0 0 0 0 0 0
HER 3 20 20 3 20 20
A ARF 0 0 0 0 0 0
LT HE 2 13 13 1 9 9
};}U%E'i'::' 0 2 2 — _ —_
HIFVYHT 1 4 4 1 6 6
K Hhis 5t 11 108 93 9 74 73
LXES 1 18 17 2 26 29
XEmH 6 50 44 7 48 44
Z 4L T 4 40 32
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(23)-2 EMHET

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 248 8.630 7,660 243 7.780 6.880
ERE (R 116 4555 4128 108 3,745 3,337
REARHhigi & 45 1,560 1,400 45 1,390 1,240
REARTH 45 1,560 1,400 45 1,390 1,240
Fif i E 0 5 4 0 4 3
F1H
Fih
ES-:L) 0 5 4 0 4 3
E & i st 33 1,614 1,434 30 1,172 1,019
SEM 3 123 110 2 88 78
& 8 420 408 7 293 264
T HT 0 10 9 0 4 4
A B T 4 257 220 4 196 168
£ IMET 0 16 16 0 11 11
F0/K AT 18 788 671 17 580 494
EEA s et 23 723 682 18 602 540
LEE T 23 723 682 18 602 540
3 thh i et 0 2 2 0 2 2
Zithth
anm
KEET
% (5 HT 0 2 2 0 2 2
] i dth 4k 51 3 230 213 3 250 223
fAl &% - - - - — -
/N E BT - - - - — —
NESL - - - - — —
ELLF — - - - — -
= FRET 3 230 213 3 250 223
PR AT - - — - — -
B BT Ex At - — — - - —
i 5t 2 66 58 2 56 48
{EN i BT 0 30 30 0 20 20
=Z B0 - - - - - —
5 3 AT 2 36 28 2 36 28
R {A ET - - - - — —
(LI ZRET
J\ i ET 2 36 32 2 34 30
J\Kh 2 36 32 2 34 30
JKJ I ET
EdihiEgEt 0 0 0 0 0 0
KT 0 0 0 0 0 0
=) 0 0 0 0 0 0
R KHET 0 0 0 0 0 0
TR EE Hhis B 7 289 280 8 229 226
AEh 0 4 4 0 1 1
FRET 0 42 42 1 33 32
% B KRHT 6 130 123 6 82 81
i BT 0 37 36 0 41 41
K EF 0 26 25 0 22 21
HER 0 8 8 0 6 6
FARF
LT HE 0 18 18 0 17 17
BREEFT - - -
HIFVYHT 0 24 24 1 27 27
K Hhis 5t 1 30 23 0 6 6
LXES 4 4 5 5
XEmH 0 1 1 0 1 1
S ALHT 1 25 18
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(24)-1 BREMFINIARUVIZIIMED)
SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE

ha t t ha t t
#rERE (85T 838 110,600 107,100 845 112,400 108,700
CHEEGED) 862 117,421 114,775 877 118,305 115,394
REARhigi Bt 68 8,976 8,692 76 10,071 9,739
REART 68 8,976 8,692 76 10,071 9,739
Fif i E 91 8,000 7,780 89 7,735 7,480
F+h 13 1,170 1,140 11 985 950
Figh 78 6,830 6,640 78 6,750 6,530
ES-:L) - — — - — -
E4L& it 230 33,637 33,047 229 31,832 31,142
ﬁ%l_'ﬁ X X X X X X
EX i 213 31,500 31,000 212 29.700 29,100
EEHT 1 7 7 1 32 32
T BE ET 2 200 190 2 200 190
M ET 14 1,930 1,850 14 1,900 1,820
F/K BT X X X X X X
EEA s et 1 60 52 1 42 38
LEE T 1 60 52 1 42 38
3 thh i et 4 210 193 3 145 134
Zithth 1 78 70 0 10 9
&iEm 1 42 41 1 45 43
KEET
% (5 HT 90 82 2 90 82
] i dth 4k 51 = = = = =
fAl &% - - - - - -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF - — - - - -
= #xET - - - - - -
PR AT - - — - — -
B BT Ex At - - — - - —
i 5t 8 615 567 8 614 566
{EN i BT - - - - - —
=B 2 221 221 2 220 220
5 3 AT 6 394 346 6 394 346
R {A ET - - - - — —
(LI ZRET
J\ i ET 444 64,520 63,080 458 66,720 65,190
J\Km 421 62,700 61,500 441 64,900 63,600
K J 1| BT 17 1,820 1,580 17 1,820 1,590
EdihiEgEt 0 40 35 0 35 30
KT 0 0 0 0 0 0
=) 0 40 35 0 35 30
R KHET 0 0 0 0 0 0
TR EE Hhis B 9 906 903 8 748 747
AEh
FRET 0 1 1 0 2 2
% B KRHT 1 129 127 1 123 122
i BT 1 68 67 0 0 0
K EFT 0 0 0 0 0 0
HER 1 46 46 1 47 47
FARF
T 4T 0 0 0 0 0 0
BREEFT - - -
HIFVYHT 7 662 662 6 576 576
K Hhis 5t 6 457 426 5 363 328
LXES 0 3 3 5 5
XEmH 4 264 243 3 218 203
Z 4L T 2 190 180 2 140 120
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(24)-2 BEMFTFINITARUVIZMRMED)

SHITTERE (20195 ) S FI2F B (20205 )
X5 et ETE IN#E= Hir= Bt ETE INE= HiTE
ha t t ha t t
HrERE (REH) 413 22,800 21,700 411 22,900 21,800
BEERE(RED 361 20,953 20,064 366 21,450 20,584
REARHhigi & 32 838 800 24 636 600
REARTH 32 838 800 24 636 600
FiR s s 65 2,176 2,101 53 1,731 1,658
F+h 8 186 173 6 160 149
Figh 56 1,980 1,920 46 1,560 1,500
EX4:) 1 10 8 1 11 9
E & i st 0 0 0 22 1,041 988
REW - - - - — —
EX il - — — 22 1,041 988
FERHET - - -
T BE ET
M ET - - - - - —
FN7KET 0 0 0 - - -
EEA s et 7 230 150 5 193 138
LEE T 7 230 150 5 193 138
% th s =t
Zithth
anm
KEET
% (5 HT
Bl ek dh 3k £ 79 6,926 6,705 88 6,992 6,777
BA] g i1 52 4810 4,650 56 4,680 4530
/N E BT - - - - — —
NESL - - - - — —
ELLF X X X 3 231 226
= FR AT 6 404 393 5 339 329
FEEA 0 2 2 0 2 2
7 B & 4 21 1,710 1,660 24 1,740 1,690
i 5t 77 5,027 4,775 78 5,290 5,078
{iED fta T 3 91 73 3 92 74
5= SHiT 3 91 81 3 92 82
8 34 BT 5 165 151 5 166 152]
R {A ET - - - - - —
(LI ZRET 66 4680 4,470 67 4,940 4770
J\ i ET 99 5,697 5,479 95 5,518 5,300
I\ 95 5,400 5,190 91 5220 5,010
K J 11 BT 4 297 289 4 298 290
EdihiEgEt 1 25 23 1 27 25
KT 0 0 0 0 0 0
=) 1 25 23 1 27 25
R KHET 0 0 0 0 0 0
TR EE Hhis B 1 25 24 0 21 19
AS
FRET 1 21 21 0 20 18
% B KHET
ZHIE]
K EF 0 3 2 0 0 0
HER 0 1 1 0 1 1
AARF 0 0 0 0 0 0
ITRED
BREEFT - - -
HTYHE 0 0 0 - - -
K Hhis 5t 0 9 7 0 1 1
LXES 3 3 1 1
XEHh
= JL BT 0 6 4
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(25)-1 BEFIMDSE,ZZFTH

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE

ha t t ha t t

WERE (REH) 330 32,700 31,800 354 35,000 33,900

CHEEGED) 315 34,146 32,559 310 34,705 32,410

REARhigi Bt 29 2,871 2,792 29 2,824 2,735

REART 29 2871 2,792 29 2,824 2,735

Fif i E 44 3,785 3,626 55 4804 4670

F+h 4 385 366 12 1,104 1,080

Figmh 40 3,400 3,260 43 3,700 3,590

ES-:L) - — - - - -

E4L& it 133 16,732 15,652 134 14,904 13,920

REW - - - - — —

EX i 120 15,223 14,153 123 13,671 12,697

EEHT 1 7 7 1 32 32

T BE ET 2 200 190 2 170 160

M ET 9 1,292 1,293 8 1,028 1,028

FN7KET 1 10 9 0 3 3

EEA s et 1 30 27 1 27 24

LEE T 1 30 27 1 27 24

3 thh i et 3 155 143 2 90 84

Zithth 1 78 70 0 10 9

&iEm 1 42 41 1 45 43

KEET

% (5 HT 35 32 1 35 32

] i dth 4k 51 - - - - — —

Bl &% - - - - — -

/N E BT - - - - — —

NESL - - - - — —

ELLF — — - - — -

= #xET - - - - - -

PR AT - - — - — -

B BT Ex At - - m — — —

i 5t 5 406 365 5 404 363

{EN i BT

=B 1 131 131 1 129 129

5 3 AT 4 275 234 4 275 234

R {A ET - - - - — —

(LI ZRET

J\ i ET 93 9,601 9,428 78 11,183 10,184

J\Km 85 8,673 8,500 76 10,983 9,984

K J 1| BT 8 928 928 2 200 200

EdihiEgEt 0 30 22 0 28 25

KT 0 0 0 0 0 0

=) 0 30 22 0 28 25

R KHET 0 0 0 0 0 0

TR EE Hhis B 1 56 55 1 43 42

AEh 0 0 0 0 0 0

FRET - - - - - —

%EKEHT 1 56 55 1 43 42

K EFT 0 0 0 0 0 0

HER - - - - — -
£7|(J':'
IJJ/I’-‘_-

BREE T - - -

HIFVYHT - — - - - -

X B phis =t 6 480 449 5 398 363

LEXEmH 0 36 36 0 40 40

XEmH 4 264 243 3 218 203

S ALHT 2 180 170 2 140 120
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(25)-2 ERFTRDSE ST

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 121 4,800 4,650 123 4,920 4,750
BEERE(RED 81 3,009 2,901 73 3,931 3,642
REARHhigi & 4 160 155 4 163 158
REARTH 4 160 155 4 163 158
Fif i E 45 529 502 17 544 523
F1H 3 75 68 3 75 70
Fih 41 450 432 13 464 450
S EHT 1 4 2 1 5 3
E & i st 20 828 644
REW - — - — — -
EX il - - — 20 828 644
EEHT - - -
T BE ET
M ET - - - - — —
FOoK BT - - - — — —
EEA s et 0 0 0 0 0 0
LEE T 0 0 0 0 0 0
Zithth
anm
KEET
% (5 HT
] i dth 4k 51 8 426 403 8 468 445
Bl &% 4 195 185 4 240 227
/N E BT - - - - — —
NESL - - - - — —
ELLF 0 23 23 0 16 16
= FRET 0 28 25 0 22 22
PR AT - - — - - -
A Bl ER A 4 180 170 4 190 180
i 5t 7 318 298 7 352 328
{EN i BT
=Z B0 0 16 16 0 14 14
5 3 AT — — - - — —
R {A ET - - - - - -
IR 7 302 282 7 338 314
J\ i ET 15 1,530 1,500 15 1,530 1,500
J\Kh 15 1,630 1,500 15 1,530 1,500
JKJ I ET
EdihiEgEt 1 25 23 1 27 25
KT 0 0 0 0 0 0
=) 1 25 23 1 27 25
R KHET 0 0 0 0 0 0
TR EE Hhis B 1 21 20 1 18 18
AEh 0 0 0 0 0 0
FRET 1 18 18 1 18 18
% B KHET
i BT
K EF 0 3 2 0 0 0
HER - - - - — —
£7|(J':'
LT A
BRE AT - - _
HIFVYHT — — - — — -
K Hhis 5t 1 1 1 1
LXES 1 1 1 1
XEmH
ZJLET
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(26)-2 EME—T>

SHITTERE (20195 ) S FI2F B (20205 )
X5 et ETE IN#E= Hir= Bt ETE INE= HErE

ha t t ha t t
#HERE (RE) 71 2,200 2,000 70 2,060 1,880
BEERE(RED 41 1,650 1,537 40 1,610 1,499
REARHhigi & 4 124 113 4 116 106
REARTH 4 124 113 4 116 106
Fif i E 1 4 3 1 4 3
Fim - - - - - -
Fih
S EHT 1 4 3 1 4 3
E4L& it 1 17 12 1 15 10
REW - - - - - —
EXA - - - = — -
EEHT 0 2 2 0 0 0
T BE T 1 15 10 1 15 10
M ET - - - - - —
FN7KET 0 0 0 0 0 0
EEA s et 2 53 48 2 56 50
LEE T 2 53 48 2 56 50
Zithth
KEET
% (5 HT
] i dth 4k 51 3 60 50 3 59 49
fAl &% - - - - - -
/N E BT - - - - - -
JINEL:) - - - - - -
EELLA - - - - - —
= FR AT 2 39 35 2 38 34
PR AT - - — - — -
7 B & 4 1 21 15 1 21 15
i 5t 30 1,377 1,299 29 1,337 1,259
{iED fta T 1 30 29 1 30 29
=Z B0 - - - - - —
5 3 AT 2 67 60 2 67 60
R {A ET - - - - - —
| LI &R ET 27 1,28 1,21 26 1,24 1,170
J\ i ET 0 2 2 0 2 2
J\Kh 0 2 2 0 2 2
JKJ I ET
=L g et 0 0
Kk 0 0
=) 0 0
R KHET 0 0
TR EE Hhis B 0 5 5 0 19 18
AS
FRET 0 5 5 0 19 18
% B KRHT 0 0 0 0 0 0
ZHIE]
K EFT 0 0 0 0 0 0
HEH - - - - - -
AARFT
LT HE
ﬁkﬁé'“' — — _
HTYHE - — - - - —
K Hhis 5t 0 8 5 0 2 2
LXES 2 2 2 2
XEHh

= JL BT 0 6 3
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(27) RA—ka—>

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
#HERE (RE) 249 o " - - -
BEERE(RED 122 1410 1,271 120 1,349 1,221
REARHhigi & 8 80 65 8 81 67
REARTH 8 80 65 8 81 67
Fif i E 4 43 36 3 43 37
F1H 1 6 5 0 5 5
Fih 1 14 12 1 14 12
ES-:L) 2 23 19 2 24 20
E & i st 1 7 7 0 0 0
REW - - - - — —
EX i - - - = — -
EEHT 1 7 7 0 0 0
T BE ET
M ET - - - - - —
FOoK BT - - - - — —
EEA s et 11 92 83 9 74 68
(LEETh 11 92 83 9 74 68
3 thh i et 53 706 639 50 664 595
Zithth 1 13 12
&iEm 5 75 74 5 50 48
KEET
% (5 HT 48 631 565 44 601 535
] i dth 4k 51 1 11 11 1 9 9
fAl &% - - - - - -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF 1 11 11 1 9 9
= #xET - - - - - -
PR AT - - — - — -
B BT Ex At
i 5t 14 191 168 12 140 132
{EN i BT 0 8 8 0 8 8
=B 1 3 3
5 3 AT 2 38 30 2 38 30
B {Z BT 12 145 130 9 91 91
IR
J\ i ET 10 100 90 21 161 147
J\Kh 10 100 90 21 161 147
JKJ I ET
EdihiEgEt 0 19 16 0 21 14
KT 0 6 5 0 5 3
=) 0 8 7 0 8 6
EZEKHT 0 5 4 0 8 5
TR EE Hhis B 2 10 9 1 7 7
AEh
FRET 0 0 0 0 0 0
% B KRHT 1 5 5 1 5 5
i BT
K EFT 0 0 0 0 0 0
HER - - - - - -
A ARF
TR 5]
BREEFT - - -
HIFVYHT 1 5 5 0 2 2
K Hhis 5t 18 152 147 15 149 145
LXES 15 115 115 12 118 120
XEmH 2 32 28 3 31 25
ZJLET 1 5 4
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31) W62
SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 309 12,500 11,800 305 12,200 11,500
BEERE(RED 240 9,742 9,170 224 9,443 8,742
REARHhigi & 20 800 755 17 680 641
REARTH 20 800 755 17 680 641
Fif i E 14 454 419 12 526 491
F1H 6 72 68 4 165 160
Figmh 8 370 341 8 350 321
ES-:L) 0 12 10 0 11 10
E & i st 53 2,866 2,641 51 2574 2,355
REW 0 15 15 0 15 15
EX i 46 2,531 2,319 46 2,296 2,091
EEHT 2 83 79 2 86 84
T BE ET 0 12 11 0 12 11
£ IMET - - - 0 0 0
FN7KET 5 225 217 3 165 154
EEA s et 25 942 911 22 780 653
LEE T 25 942 911 22 780 653
3 thh i et 7 262 228 7 292 269
Zithth 5 200 175 5 230 217
&iEm 1 30 25 1 30 23
KIEHT 0 8 7 0 8 8
% (5 HT 1 24 21 1 24 21
] i dth 4k 51 11 438 423 13 592 582
fAl &% 8 345 338 11 490 488
/N E BT - - - - — —
NESL - - - - — —
ELLF 1 3 3 0 2 2
= #xET - - - - — -
FEEA 1 45 40 1 45 40
A Bl ER A 1 45 42 1 55 52
i 5t 9 328 314 9 336 322
{EN i BT
=Z B0 3 85 83 3 90 90
5 3 AT 0 1 1 0 1 1
B {Z BT 1 22 21 1 21 21
IR 5 220 209 5 224 210
J\ i ET 81 3,104 2,961 73 3,080 2,877
J\Kh 33 1,200 1,140 26 1,200 1,091
K J 1| BT 48 1,904 1,821 47 1,880 1,786
EdihiEgEt 0 14 8 0 14 10
Kk - - - - — -
=) 0 14 8 0 14 10
R KHET - - — - - —
TR EE Hhis B 17 459 449 17 489 481
AEh 1 46 46 1 49 49
FRET 1 14 14 1 20 18
% B KRHT 5 75 71 5 73 72
i BT 2 43 41 2 50 48
K EF 3 83 79 3 83 82
HER 1 49 49 1 66 64
£7|(J':'
LT A
Ik BE #1 1 18 18 1 25 25
HIFVYHT 3 131 131 3 123 123
K Hhis 5t 3 75 61 3 80 61
LEXEmH - - - - - -
XEmH 3 75 61 3 80 61
ZJLET
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(32) Ao

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 872 24,400 23,000 862 24,400 23,100
CHEEGED) 520 14,312 13,373 371 10,547 9,936
REARHh I ET 258 7,224 6,810 139 3,934 3,724
REART 258 7,224 6,810 139 3,934 3,724
Fif i E 74 2,016 1,908 71 1,835 1,755
F+h 12 420 387 11 310 305
Figmh 57 1,500 1,430 54 1424 1,357
S EHT 5 96 91 6 101 93
E4L& it 2 55 47 2 70 60
REW - — - — — -
EX i 0 6 6 0 17 17
EEHT 0 3 3 0 0 0
T BE T 1 25 20 2 50 40
M ET - - - - — —
FN7KET 1 21 18 0 3 3
EEA s et 38 842 723 31 711 652
LEE T 38 842 723 31 711 652
3 thh i et 31 736 697 27 743 701
Zithth 25 565 542 23 590 562
=¥odit] 0 0 0 0 0 0
KEET 3 66 60 1 48 44
% (5 HT 3 105 95 3 105 95
] i dth 4k 51 5 52 48 5 52 48
fAl &% 1 8 8 1 7 7
/N E BT - - - - — —
NESL - - - - — —
ELLF — - - - — -
= FRET 2 25 23 2 25 23
PR AT - - - - - -
A Bl ER A 2 19 17 2 20 18
i 5t 2 59 50 3 50 43
{EN i BT - - - - — -
=Z B0 - - - - — —
5 3 AT 2 59 50 3 50 43
FF {£ HT 0 0 0 0 0 0
IR
J\ i ET 73 2,362 2,129 54 2,176 1,981
J\Km 71 2,300 2,070 52 2,112 1,920
K J 1| BT 2 62 59 2 64 61
=L g et - - - - - —
Kk - - — - — -
=E[d:] - - - - - -
R KHET - - — - - —
TR EE Hhis B 37 965 959 39 974 970
AEh 0 17 17 0 15 15
FRET 5 117 117 5 120 120
% B KRHT 19 385 382 19 393 391
i BT 2 48 46 2 56 54
K EF 1 29 28 1 26 26
HER 1 58 58 3 53 53
FEARF — _ — — — —
T 4T 0 5 5 0 4 4
};}2]%'5 ui — — — — _ —_
HIFVYHT 9 306 306 9 307 307
KEHIFET 1 2 2 2
LXES 1 2 2 2
XEHh
= JL BT
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(33) FLyh

SHITTERE (20195 ) S FI2F B (20205 )
X5 TR IN#E= HETE Bt ETE INE= HErE
ha t t ha t t
WERE (REH) 1,330 52,100 49,100 1,290 49,900 47,000
BEERE(RED 858 31,578 29,382 697 25,386 23,828
REARHhigi & 461 17,979 16,944 330 12,771 12,029
REARTH 461 17,979 16,944 330 12,771 12,029
FiR s s
Fim - - - - - -
Fih
ES-:L) - — — - — -
F £ HhigET 29 936 864 27 746 693
REW 1 16 16 1 15 15
EX i 1 6 6 0 6 6
EEHMET 16 496 480 16 352 336
T BE ET 0 3 3
M ET - - - - - —
FN7KET 11 418 362 10 370 333
EEA s et 210 7,707 6,936 180 7,030 6,570
LEE T 210 7,707 6,936 180 7,030 6,570
3 thh i et 91 3,110 2,887 92 2,987 2,780
Zithth 5 158 149 5 145 131
aEm 84 2,910 2,703 85 2,800 2614
KEET
% (5 HT 2 42 35 2 42 35
] i dth 4k 51 0 3 2 0 0 0
fAl &% - - - - - -
/N E BT - - - - - -
/|\EHT - - - - - -
ELLF - — - - - -
= #xET 0 3 2 0 0 0
PR AT - - — - — -
B BT Ex At - - — - - —
28k hig 5 65 1,816 1,725 65 1,824 1,733
{EN i BT - - - - - —
=Z B0 - - - - - —
5 3 AT 65 1816 1,725 65 1,824 1,733
R {A ET - - - - — —
(LI ZRET
J\ i ET 0 3 2 0 3 2
J\Kh 0 3 2 0 3 2
K J 1| BT
=L g et = - - - - -
Kk - - - — — —
EJbET - - - - — —
R KHET - - - — — -
TR EE Hhis B 1 5 3 1 5 3
AEh
FRET 0 0 0 0 0 0
% B KRHT 1 5 3 1 5 3
i BT
K EFT 0 0 0 0 0 0
HER - - - - - -
£7|(J':' — — — — — —
LT A
BREE 1 - - - - - -
HIFVYHT - — - - - -
R EHhiE At 2 19 19 2 20 18
LXES 3 5 2 2
XEmH
S ALHT 2 16 14 2 18 16

94




